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Directions (Q1-Q2): Mark the correct sentence out of the given four options.
1. A) We discussed about the matter yesterday. ~ B) We discussed of the matter yesterday.

C) We discussed the matter yesterday. D) We discussed on the matter yesterday.
2. A) Hari has ordered four cups of tea. B) Hari has ordered for four cups of tea.
C) Hari has ordered about four cups of tea. D) Hari has ordered of four cups of tea.

Directions (Q3-Q4): Mark the correct sentence in which ‘still’ and ‘since’ are used as adverbs.
3. A) With his name the mothers still their babies. B) Still waters run deep.
C) He is still in business. D) Sita’s sobs could be heard in the still of night.

4. A) Since that day, I have not talked to him.
B) I have not seen Hari since.
C) Since there is no help, come, let us go there and meet him.
D) Since 1960, India has not signed any treaty with Vietnam.

Directions (Q5-Q6): Choose the option which best replaces the underlined part of the sentence.
5. I wish [ visit him once.

A) I wished 1 visit. B) I have wished I visit.
C) I will wish I am visiting. D) I wish I visited.
6. If Sunil is presented there, he would allow it.
A) If Sunil were present.................... B) If Sunil will presents. vi:vessswssinovomn
) If Sunil has been present.....c.osivease D) If Sunil is presenting....................

Directions (Q7-Q8): Mark the correct meaning of the idiom out of the four options.
7. The cat has got someone’s tongue.

A) to express one’s envy. B) someone is remaining silent.

C) to express one’s anger. D) to betray someone.

8. To sit on the fence
A) To take swift action. B) To lead a comfortable life.
C) To remain faithful to someone. D) To avoid making a decision or choice.

Directions (Q9-Q10): Mark the correct synonym for the given word.
9. Hauteur
A) Arrogance B) Kindness C) Mercy D) Inimical

10. Impecunious
A) Rich B) Impoverished C) Indifferent D) Careful

11. To which year, the reference is made as the ‘Year of Agricultural Renewal’ by the National

Commission on Farmers?
A) 2006 B) 2009 C) 2012 D) 2015

12. What is the Base Year of SENSEX?
A) 1978-79 B) 1981-82 C) 1988-89 D) 1991-92
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Satellites of about how many countries have been launched by India?

A) 15 B) 25 i35 D) 45

Which state Legislative Assembly is having seats less than 60?

A) Mizoram B) Manipur C) Meghalaya D) Tripura

Name the Chairman of 15th Finance Commission.

A) Ajay Narayan Jha B) Anoop Singh C) NK Singh D) Ramesh Chand
Mark the period of membership of Republic of China in the UN Security Council:

A) 1945-1970 B) 1945-1971 C) 1946 — 1969 D) 1946 — till date
Army contingent from which country was first to march down the Rajpath during the Republic Day
parade?

A) Afghanistan B) Bangladesh C) France D) UAE

Who succeeded Subrahmanyam Jaishankar as the Foreign Secretary of India?

A) Harsh Vardhan Shringla B) Syed Akbaruddin

C) Taranjit Singh Sandhu D) Vijay Keshav Gokhale

By whom Hannukah, a festival that is similar to Diwali, is celebrated?

A) Buddhist B) Jewish C) Shintoism D) Taoism

State the "State Tree’ of Haryana and that of Punjab.

A) Neem and Peepal respectively B) Peepal and Sheesham respectively

C) Peepal and Neem respectively D) Neem and Sheesham respectively

Starting with the earliest, arrange

1). Jnanpith Award, ii). Booker Prize, and  iii). Sahitya Akademi Award in the order of
their establishment.
A) i, 1, iii B) i, iii, i ) in, 11 D) iii, ii, i
Match List-I (Scientist) with List-II (Nationality)
List-1 List IT
1. Galileo Galilei a. English
il. Isaac Newton b. Italian
¢. Portuguese
d. Spanish
A)i-b, ii-a B) i-c, ii-a C)i-d, ii-a D) i-d, ii-b
Match List I (Dance Form) with List IT (Prominent State)
List I List II
i. Kathakali a. Andhra Pradesh
ii. Kuchipudi b. Kerala

¢. Tamil Nadu
A) i-a, ii-b B) i-b, ii-c C)i-c, ii-a D) i-b, ii-a
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Which of the following day(s) is (are) celebrated during the month of June?

i). World Environment Day, ii). World Oceans Day, and iii). World day to Combat
Desertification and Drought

A)i B) i, ii C) 1, 1ii D) i, 1i, 1ii

Which of the following cricketers has been awarded Men's T-20 Cricketer of the Decade by
International Cricket Council (ICC) in December 20207
A) Rohit Sharma B) Virat Kohli C) Rashid Khan D) A.B. De Villiers

If a person covers three equal distances at a speed of 30 kmv/h, 15 km/h and 10 km/h respectively

then his average speed during the whole journey will be
A) 15 km/h B) 25 km/h C) 65 km/h D) 26 km/h

A bag contains Rs 1, 50 paise and 25 paise coins in the ratio of 8:9:11. If the total money in the
bag is Rs 366, find the number of 25 paise coins.

A) 275 B) 264 C) 185 D) 165
A sum of Rs. 782 has been divided between P, Q and R in ratio of % % Z Find the share of R.
A) Rs.306 B) Rs.365 C) Rs.163 D) Rs.267

When 17 is divided by 18, the remainder will be

A)5 B) 4 )1 D)3

A and B together start a business by investing in ratio of 4 : 3. If 9% of the total profit goes to
Charity and A’s share is Rs 1196, find the total profit.
A) Rs 2330 B) Rs 3000 C) Rs 3200 D) Rs 2300

The angle of elevation of the top of an unfinished plllar at a point 150 m from its base is 30°. If the
angle of elevation at the same point is to be made 45", then the pillar has to be raised to the height

of how many metres ?
A)59.4m B)61.4m C)624m D) 63.4 m

Wages of 45 women for 48 days amount to Rs 31050. How many men must work for 16 days to
receive Rs 11500, the daily wages of a man being double those of a woman?
A) 20 men B) 30 men C) 25 men D) 15 men

A takes 6 days less than B to finish a piece of work. If both A and B together can finish the work in
4 days, find the time taken by B to finish the work.
A) 13 Days B) 12 days C) 14 days D) 15 days

A certain sum at a certain rate of simple interest amounts to Rs 1125 in 4 years and Rs 1200 in 7

years. Find the rate of interest.
A)2.43% B) 3.43% C)2.48% D) 3.48%

A basket contains 3 blue and 4 red balls. Three balls are drawn at random, what is the probability
that all the three balls are either blue or red?
A) 2/7 B) 3/7 C) 1/7 D) none of these
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A and B are two events such that P(A) = 0.3 and P(AUB) = 0.8. If A and B are independent, then
P(B) is
A) 5/7 B) 3/4 C)4/5 D) 5/6

The angles of elevation of the top of a rock from the top and foot of 100 m high tower are
respectively 30° and 45°. The height of the rock is
A)50m B) 150 m C) 50V3m D) 503 +\3) m

In the given figure PT is tangent of a circle, with centre O, at point R.
If diameter SQ is increased. It meets with PT at point P.
The value of ZSPR + 2 ZPSR is equal to..

P R T

A) 90° B) 105° £) 135 D) none of these
. 1+siné . .
The expression ll_sm g 18 equivalent to
A)secO-tan 0 B) cosec 6 - cot 6 C)sec O +tan 0 D) cosec 8 + cot 6

The number of integral values of x so that 228-T%0 = 1 s

A)l B)2 )3 D)4
The zeroes of the quadratic polynomial f{x) = X +99x+ 127 are

A) both positive B) both negative

C) one positive and one negative D) both equal

. There are 312, 260 and 156 students in class X, XI and XII respectively. Buses are to be hired to

take these students to a picnic. Find the maximum number of students who can sit in a bus if each
bus takes equal number of students.
A) 63 B) 56 C)48 D) 52

The difference of two numbers is 1365. On dividing the larger number by the smaller, we get 6 as
quotient and the 15 as remainder. What is the smaller number?
A) 360 B) 270 C) 295 D) 240

First term of an A.P. of consecutive integers is p> + 1. Sum of 2p + 1 terms of this A.P. will be
A)(pt1y B)2p+ D(p+17 C)(p+1) Dp' +@+1)

A 7 meter wide road runs outside around a circular park whose circumference is 176 cm. What
will be the area of the road?
A) 1512 sqm B) 1472 sqm C) 1760 sq m D) 1386 sq m

A tangent is drawn from a point at a distance of 17 cm of circle C(0, r) of radius 8 cm. The length
of its tangent is
A)5cm B)9 cm C)15cm D) 23 cm
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From a point P which is at a distance of 13 cm from the centre O of a circle of radius 5 cm, the pair
of tangents PQ and PR to the circle are drawn. Then the area of the quadrilateral PQOR is

A) 32.5 cm? B) 65 cm? C) 30 cm? D) 60 cm?
A natural number when increased by 12 becomes 160 times its reciprocal. Find the number.
A)8 B)3 04 D)7

Divide Rs. 2602 between X and Y so that the amount of X after 7 years is equal to the amount of Y

after 9 years; the interest being compounded at 4% per annum.
A) Rs 1400, Rs 1202 B) Rs 1352, Rs 1250 C) Rs 1100, Rs 1502 D) Rs 1150, Rs 1452

A train travels at a certain average speed for a distance of 63 km and then travels a distance of 72
km at an average speed of 6 km/h more than its original speed. If it takes 3 hours to complete the

total journey, what is its original average speed?
A) 46 km/hr B) 44 km/hr C) 42 km/hr D) 48 km/hr

Aruna has only Rs 1 and Rs 2 coins with her. If the total number of coins that she has is 50 and the
amount of money with her is Rs 75, then the number of Rs 1 and Rs 2 coins are respectively
A) 25 and 25 B) 30 and 20 C) 15 and 35 D) 35 and 15

An army contingent of 616 members is to march behind an army band of 32 members in a parade.
The two groups are to march in the same number of columns. What is the maximum number of

columns in which they can march?
A) 32 B) 16 0)4 D) 8

A cone of height 7 cms and base diameter 6 cms is made from a rectangular block of wood of
dimensions 10 cms X 5 cms x 2 ¢cms. Find the percentage of wood wasted.

A) 60% B) 34% C) 40% D) none of these
For what value of k, for the equations 3x— y+ 8 = 0 and 6x — ky = —16 represent coinciding lines?
A) 1/2 B)-1/2 C) 2 D) -2
The decimal expansion of number ——— is:
22x53x7
A) Terminating B) Non-terminating but repeating
C) Non-terminating and non-repeating D) None of the above

Pick the odd one out
A) Virus B) Trojan Horse C) WWW D) Worm

To undo your last action in MS-Office, press
A) Control P B) Control S C) Control N D) Control Z

Multimedia can contain

A) Graphics, animation, video, music, and voice
B) Only numeric-type data

C) Only Numeric, text, and picture data

D) Databases that in turn, contain other databases



58,

60.

6l.

62

63.

64.

65.

66.

67.

www.HaryanaJobs.in

The most important difference in the performance between main memory and secondary memory
is:

A) Power consumption

B) Most secondary storage devices are too big to fit into the CPU

C) Secondary storage is mostly bi-state, but main memory is mostly tri-state

D) Speed of access; secondary storage is much slower

A UPS:

A) increases the storage capacity of a computer system B) increases the process speed
C) provides backup power in the event of a power cut D) increases /O speed

Which of the following is an output device?

A) Web Cam B) Scanner C) Multimedia Projector D) Mouse

. Buying and Selling goods over Web is known as ;

A) E-commerce B) T-commerce C) Trading D) Hyper Market

A network topology in which all data pass through a central computer is :
A) bus network B) star network C) mesh network D) ring network

If somebody wants to see which URL’s have been browsed by the user of a particular web browser,
then which of following feature is the most appropriate?
A) History B) Back Button C) Forward Button D) Refresh Button

Basic purpose of Microprocessor is to:
A) store information B) print data C) compute data D) send an e-mail

If in a certain code language, ‘FRIEND’ is written as ‘ETKDPF’, then how ‘REVEAL’ be coded in
that language?
A) LAEVER B) VERQLM C) QXGCDN D) QGXDCN

If the same function is applied to reach the results in each of the three sets of numbers given below,
then which number will replace the question mark (?) in the third set of numbers?

A) 24 B) 30 C) 36 D) 40

Directions (Q.No.68 & 69): Study the following information and answer the questions.

(1) Eight persons E, F, G, H, I, J, K and L are seated around a square table — two on each side.
(i)~ There are three lady members and they are not seated next to each other.

(i)  Jis between L and F.

(iv) Gis between I and F.

(v) H, a lady member, is second to the left of J.

(vi)  F, amale member, is seated opposite to E, a lady member.

(vii)  There is a lady member between F and I.
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Who among the following are the three lady members?

A)E,G &H B)G,H&]J OEH&J D)E,G&J

How many persons are seated between K and F?

A) One B) Two C) Three D) Cannot be determined
Kunal walks 10 km towards North. From there he walks 6 km towards South. Then, he walks 3 km

towards East. How far and in which direction is he with reference to his starting point?
A) 5 km South-West B) 7 km South-West C) 7 km North- East D) 5 km North-East

In a class of 60, where number of girls are twice that of boys, Rajan ranked seventeenth from the
top. If there are 9 girls before of Rajan how many boys are after him in rank?
A)3 B) 12 C)7 D) 23

Directions (Q. No.72 & 73): Read the following information carefully and answer the questions.

72.

73.

74,

i

76.

Six lectures, A, B, C, D, E and F are to be organized in a span of seven days — from Sunday to

Saturday, only one lecture on each day in accordance with the following:

(i) A should not be organized on Thursday.

(11) C should be organized immediately after F.

(ili)  There should be a gap of two days between E and D.

(iv)  One day, there will be no lecture (Friday is not that day) just before that day D will be
organized.

(v) B should be organized on Tuesday and should not be followed by D.

How many lectures are organized between C and D?

A) None B) One C) Two D) Three

Which day will the lecture F be organized?

A) Thursday B) Friday C) Saturday D) Sunday

Choose the correct alternative that will continue the same pattern and replace the question mark (?)

in the given series.
8,28, 116, 584, 7
A) 1752 B) 3502 C) 3504 D) 3508

Q’s mother is the sister of P and daughter of M. S is the daughter of P and sister of T. How is
M related to T?

A) Grandmother B) Grandfather C) (A) or (B) D) None of the above

A result of a survey of 1100 persons with respect to their knowledge of Hindi (H), English (E) and
Sanskrit (S) is given below:

Y
awd

What is the ratio of those who know at least two languages to those who do not know Sanskrit?
A)31:54 B)41:64 C)41:54 D)31:064
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77. The second figure in the first part of the problem figures bears certain relationship to the first
figure. Similarly, one of the figures of answer figures bears the same relationship to the first figure
of the second part of problem fig. Select a figure from the set of answer figures which would

replace the question mark (?)
Problem Figures

* = A * -
= — 3 o -
o0
S Alt O s X g
Answer Figures
= F o)X ®F 0
+ + =+ |+ *
* + xk - x|0 — +|[ x> =
A) B) &) D)

78. Two positions of a dice are shown below. Identify the number at the bottom when top is ‘3’7

<>

<>

A)2 B) 4

Q)5

D)6

79. A cube is coloured red on all its faces. It is then cut into 64 smaller cubes of equal size. The smaller

cubes so obtained are now separated.

How many smaller cubes have two surfaces painted with red colour?

A) 24 B) 20

0) 12

80. How many triangles are there in the following figure?

A)8 B) 10

C) 12

sk sk skook sk ok

D)8

D) 16
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(Hindi Version)
(For any clarification, please refer to English version)

Directions (Q1-Q2): Mark the correct sentence out of the given four options.
I. A) We discussed about the matter yesterday. ~ B) We discussed of the matter yesterday.

C) We discussed the matter yesterday. D) We discussed on the matter yesterday.
2. A) Hari has ordered four cups of tea. B) Hari has ordered for four cups of tea. |
C) Hari has ordered about four cups of tea. D) Hari has ordered of four cups of tea.

Directions (Q3-Q4): Mark the correct sentence in which ‘still’ and ‘since’ are used as adverbs.
3. A) With his name the mothers still their babies. B) Still waters run deep.
C) He is still in business. D) Sita’s sobs could be heard in the still of night.

4. A) Since that day, I have not talked to him.
B) I have not seen Hari since.
C) Since there is no help, come, let us go there and meet him.
D) Since 1960, India has not signed any treaty with Vietnam.

Directions (Q5-Q6): Choose the option which best replaces the underlined part of the sentence.
5. I wish I visit him once.

A) I wished 1 visit. B) I have wished I visit.
C) I will wish I am visiting. D) I wish I visited.
6. If Sunil is presented there, he would allow it.
A} If Sunil were preseit. . cvnsvesnvone B) If Bunil will presents.. ..o oeomessnsimis
C) If Sunil has been present................ D) If Sunil is presenting. ..o ssmisvin

Directions (Q7-Q8): Mark the correct meaning of the idiom out of the four options.
7. The cat has got someone’s tongue.

A) to express one’s envy. B) someone is remaining silent.

C) to express one’s anger. D) to betray someone.

8. To sit on the fence
A) To take swift action. B) To lead a comfortable life.

C) To remain faithful to someone. D) To avoid making a decision or choice.

Directions (Q9-Q10): Mark the correct synonym for the given word.

9. Hauteur
A) Arrogance B) Kindness C) Mercy D) Inimical
10. Impecunious
A) Rich B) Impoverished C) Indifferent D) Careful
N R W T S R i e 9 @ w1 e A SR e fehan T 2
A) 2006 B) 2009 C) 2012 D) 2015

12. A9 FT MUR 99 w41 2
A) 1978-79 B) 1981-82 C) 1988-89 D) 1991-92
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RA g fhes 3 & SmE 2R W T

A) 15 B) 25 C) 35 D) 45

fora o faum @ & 60 ¥ = AT F

A) forstrm B) #foraR C) e D) fag

T (15") fam smanr & Jm@ (Sremer) & @ AW R

A)FvE AREw W B) s fiiE C)w = &z D) T#a we

Y T GUan URYe H A TR S 9eean S e Sdra

A)1945-1970 B)1945-1971 C) 1946-1969 D) 1946 ¥ 3o T
T fieE i T W U9 R 9 ¥ uEd {6 3w @ A1 e A 9 fna:

A) FRTER B) e C) wiE D) gu¥

HRA & faew afue & 9 W gemites Sasied o STt SiF T
A) BSEd e B) wae Jwswe  C) drAend fe @y D) fava fwa dew

A ® T ST Io0d fohe g AT S 2

A)stg g7 B)@feat gm C) fiar & grr D) 3afzat g/
Bieam sk T & e ge’ st

A) AT A9 R dee B) @¥ar: divet 3iiX s

C) war: et 3R 9 D) wda: [ 3R e

[E ¥ ST I T Al &) T B A A
i) NS TR ii) g9 TEER AR iii) @i e TR

A) i, ii, iii B) i, i, i C) iii, i, i D) iii, i, i
-1 () o G- 11 () A A 1
-1 TR - 10
i) Aferferar Aferr a) JTTeT
ii) S8 g b) eIt
¢) e
d) ==t
A)i-b , ii-a B) i-c, ii-a C)i-d, ii-a D) i-d, ii-b
T - 1 (T ) FGR- [ (TE TF) F Aol F
- 1 - 10
i) HeThent a. 3T T
i) sferger b. &
c. A A
A)i-a, ii-b B) i-b, ii-c C)i-c, ii-a D) i-b, ii-a
F - /A = o & Wi ¥ A s R
i) fama waiawor foam i) fawa wr faw, siv

iii) AEEACHRRIT ( desertification) 133% q fAuea & foe fawg feaw
A) i B) 1,1i C) 1,1 D) i, ii, iii
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frfaias 3 3 frm frder =t fawm 2020 ¥ s frdie wRwe (ICC) w1 fioet @oras #
T-20 & 9&W fhdhex & ¥ ¥ wwia forar T 2:
A)AfeT =t B) favre et C)ufie @= D) T . Sfaferm

ot v =@feT w9 30 kmv/h, 15 km/h 3R 10 km/h & 9 5909 Rl &Y 9 IR 8, @ W I
A) 15 km/h B) 25 km/h C) 65 km/h D) 26 km/h

U T F 8:9:1 B I A 1 T, 50 W 3N 25 W & foww & afe FwH a5 366 T B, @A
25 B & Tl & g AW F:

A)275 B) 264 C) 185 D) 165

P.Q 3R R¥ 1:2:3 & squa & 782 T0d @ic W &1 R =1 fewan e
2 3 4

A)306 & B)365% C) 163 % D) 267 &

afz 17" Y 18 2R fasfor fean oEn 2, A Iuwer B

A)5 B) 4 C) 1 D) 3

A 3R B, 4: 3% oEuE ¥ PRW ¥ FRER F N Q) AR F[H TD FT 9% I H e 2
IR A @ w196 T R, A wHA AN AH FA:
A) 2330 T B) 3000 T C) 3200 T D) 2300 T

ST IR A 150m T g | v R wEN B W @ s B 300 B AR 5@ g W
Fror 450 T T 2, A T @ S e Wew @ B

A)59.4m B)61.4m C)62.4m D) 63.4m ,
45 AT N 48 TR F WD 31050 T 21 AT TEW F 1500 T T F ¢ 16 o ™
AT TR, AR T TE ) A Aored IR 9 Aorgdl & SR R

A)20 T&9 B) 30 &9 C)25 T& D) 15 &9

U HE R W EFA D T A, B A 6 T A 1 3R A Sk B I ww oA 4 A A W
FTFEY F, A B A T G e A fhan w0 e

A)13 fe B)12 & )14 fe D) 15 fe

v frery T AUy o @ R W ¥ 4 a9 ¥ 126w 3R 7 98 ¥ 1200 T B AR S =
?:IHTFEIHT&:

A)2.43% B) 3.43% C) 2.48% D) 3.48%

v A F 3 T 3R 4 T AX F) A NN Y grewe Frwen e 2, A A= A S A W
A T B FT A GEA €

A) 2/7 B) 3/7 C) 1/7 D)X A wE N AE B

A 3R B & weA # @ifF P(A)=0.3 3k P (AUB)=0.8 afz A 3 B3 g, @ P(B) &

A) 5/7 B) 3/4 C) 4/5 D) 5/6

TF 100m BT TRR B SMUR 3N WY ¥ vF ueew @ e @ s @ wam 30° 3k 450 #

A) 50m B) 150m C)5043 m D) 50 3++3)m
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frwfere d@f % 0 @@ A R fag W PT v 9o & =adf Y@ #1 af? =@ SQ &t wern o 2,
@™ 98 PT & P famg W w0df &zam 21 £ SPR + 2 / PSR &R #:

P R T

A) 90° B) 105° C) 135" D) 3 A ¥ wiE off 7 2
ZeE  [I+sinf TR B

|—siné
A) secH -tan0 B) cosec 8-cot® C)secO+tan0 D) cosec 6 + cot 0
Ay 2277 = @ x & T T A w 3
A) 1 B)2 0)3 D) 4
fgerd gwet (quadratic polynomial) f(x) = x° + 99x + 127 & R®Y (zeroes) ?:
A) A TS B) @I ueHen C) & T 3R UF O D) a1 q6

Fem X, XI 3R X1l ¥ AT 312, 260 3K 156 frmdt #) == Fafia o iffe wa 53 =
fore @ frae w o #1 AR uRe 99 Wk e A R @ o 2, @ w9 F sftreaw ey
oot ds g & 7

A)63 B) 56 C) 48 D) 52

3 FES T AR 1365 21 WS G H DI qE A e S W, W 6 e B @ 3R
15 AYhA faear 21 S o= = v

A) 360 B) 270 C) 295 D) 240
wHiAeH qUiiehl & A.P. T U8l 9T p'+1 1 38 AP, @ 2p+] WS &1 W BN
A) (p+1) B) 2p+1)(pt1)*  C)(p+1)’ D) p'+(p+ly’

7 ¥iex A WSH TGN T F G TR IR Aereht 2 o A ki 1760m. 21 w=w @ dAwe
=1 BA?

A) 1512 sq.m B) 1472 sq.m C) 1760 sq.m D) 1386 sq.m

8 cm =@ A g9 C(0,r) ¥ 17 cm. 3 g0 W farg ¥ wudl Y <= W B0 3@ o et Yew &
e #:
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KEY
FOREST GUARD EXAM. HELD ON 01.08.2021 (MORNING SESSION)
FOREST DEPARTMENT, U.T. CHANDIGARH ADMINISTRATION

Q.No. Ans Q.No. Ans Q.No. Ans Q.No. Ans
1 C 21 C 4] B 61 G
2 A 22 A 42 D 62 A
3 C 23 D 43 B 63 B
4 B 24 D 44 D 64 A
5 D 25 C 45 D 65 C
6 A 26 A 46 C 66 D
7 B 27 B 47 D 67 B
8 D 28 A 48 A 68 A
9 A 29 C 49 B 69 C
10 B 30 D 50 C 70 D
11 A 31 D 51 A 71 B
12 A 32 C 52 D 72 D
13 C 33 B 53 B 73 A
14 A 34 A 54 o 74 D
15 ¢ 35 C 55 A 75 G
16 B 36 A 56 1B 76 B
17 & 37 D 57 D 77 A
18 D 38 A 58 A 78 C
19 B 39 C 59 D 79 A
20 B 40 B 60 C 80 D






